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Calculus ABC Test I—versin Name:

Lecture section: ___ Student Number:

PUT ANSWERS IN BOXES. NO BOOKS/NOTES/CALCULATORS. DO YOUR OWN WORK.
Simplify answers where possible. Include units where needed. All angles are in radians. log = logy,.

1. Simplify as far as you can:

P+y YD J- |
-1 (Y-
2. Simplify by combining using a common denominator:
SX T
K*HY >‘F 2%+ (k l)
‘-'C'*" T+ 1 -g{x-t'l) XX+
3. Solve for x:
2 +6z+8=0 i _n -
(m*—t)(“z) =0 X="42 X= 4;
4. Solve for : 3 =
v’ O Ir-21=5r =
D 7 Y = _,L
=2 2
r= 2
5. Solve for z: }{_
3r <9z +4 ~Zer _ %,
3
—4 Lbx X Z i
6. Find the equation of the line between the points (2, 1)
and (1,6) in slope-intercept form. 7 e SX ) l
B~ -| = ~S[%-2 -
Si_ﬂf‘c = Y Y | g(_ )

7. Factor: 2+ 2z — 8

(-2 G( +4)(x- 2)

8. Find the value of:

ks FI = 2(0° = \E‘:S:,.
coS (—) b 9.
6 s
-cos X%
9, Find the value of:
W . e o
g L e pnsa %
6 — s T
10. Find the value of &
1 |
; b b= 4
Sij« - b 7/6 = o

|

X =b
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11. Find the value of sec(f):
-t i /‘_l 3
Kt: 7 EECE‘-CJ‘;SE b
K= ﬁ *

12. Graph the function y = tan(z) for -v <z < .
Label with the following values (if applicable): each inter-
cept, location of each asymptote, and (x,y) coordinates
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of each /m—rﬁ and ?&ﬂ L L i w asy m?i-!u
(.'—’“.-fa) ﬂf'b} ] ®= - Yo R_
(m,0) *
13. Simplify and eliminate any negative exponents:
_.—.1—-—~

TR g
(85) " 875" (Q?L

"
=
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14. Simplify and eliminate any negative exponents: }Cj
~a/5 2 -Y% —a
(=)™ XY v %

15. Solve for z (write answer as a rational number):

-3

&-® X=

16. Solve for z: 4
: 3 Z2= 1095 - 2
Zz42= logy3 g &Tg"’ﬂ-f“:ﬂg 1eg 7
2v2= 1232 or 2= loq,3 -2
lna'f B N
17. Graph the equation 3z + 2y = 9. Infercephs - 1
Label with the following values (if applicable): each in- (5‘} VL} \ ~'—">"-"|"’-
tercept, slope, and (z,y) coordinates of vertex. (3,2 [ e
2'?‘ = 3% +9 \
¥ ExX
ntereepts verkex :
18. Graph the function y = 2z — 22 (0,0) (3,0) (1, 1)
Label with the following values (if applicable): each in- 4
tercept, slepe, and (x,y) coordinates of vertex. :
ﬁ:ﬂvpi\‘wﬂ" ®= '%: }%'_-_f- | \

19. Find the perimeter of a rectangle which has length
4 mm and width 7 mm.

p=2042w P = AN+ 2() = 22

22 v

20. Find the volume of a sphere of radius 5 feet.

\ =~ %’ﬂ‘r3 s %TT(ES)
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